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Note:

Explain how priority based multiple access schemes can
be implemented? 7 .
g5y 6 arafiiear sl Tgaantt diers & ) AN
frar 1 e gl '
b) Withneatsketch, explain the operation of helical antenna. 7
wrep R & Heradr § TER T & SaIe Hi A
ARl ' ‘
2. a) Explain the architecture of GPRS in detail. 7
GPRS & aRg®HaT Dl faRaR § I9sI1sv
b) Describethe handover and services available in GSM. 7
GSM # Suast g 3R A3 @1 avia FR|
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1) Attemptany five questions:
=i ufa uel @ g
ii) All questions carry edual marks.
it el & qESiE & '
iii)In case of any doubt or dispute the English version
question should be treated as final.

st oft wpR & Heg rEr YT i Rufa F st qmr
& W Y IiferH T SR
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Why do we nced wireless LAN explain architecture of
802.11 LAN? _ 7
&1 IIURad LAN & smawmasar &1 2 802.11 LAN &
RIS ) Tt IR

Which waves arc used in wircless LAN communication
and why? 7
IR 1 HuR 4 3 adl & I B o ¢ kR
T ?

What arc the four difTerent versions of HIPERLAN
cxplain with necat sketches? 7
HIPERLAN & ¥R 337 - 3am 633~ aq &, @6 -J
WIE] & @y waEg

What arc the three channel accesses in HPERLAN-17 7
HPERLAN-1d R @ caitqa o 27

List out the different challenges of password managoment
7
qraEd waua & Rt i # 9@ e
What are the different methods of password management?
. 7
qrRiad wdua & Rt add v 82

Compare the classical approaches to make the TCP
suitable for mobile environment. Give their relative
advantages and disadvantages. 7

AR aramERy & &3 TCP 2 Iugaa T & ¢ meiig
@ H gan | I Ty amw iR @il @@
With the help of a neat diagram, explain the reference
model of wireless and mobile networks. 7

U W0 ING 6 WERAT H IEEH AR N s &
e niza & arear aR)
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7. a) Explainabout dynamic source routing protocol. 7
SIS A wien Wietsia & ar § qagql

b) Explain the header fields of IP-in-IP, minimal, generic
routing encapsulation. 7

IP-in-1P, =gTaw, amm*ﬁ%nqaﬂsqgamas%atﬁazﬁ
ST aN|

8. Writc short notes on the followi 14
i) Dynamic tlost ConﬁM% Protoco! (DHCP)
it) MAC layer &
frafafa w wfiw ferfau
i) sTfE FRYA WeYsiet (DHCP)
ii) #® wa
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